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Explain the Newton's second law of motion
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A sphere of 2 N mass having velooy
1 mfsec collides another sphere of mass § N
mosing 1n same direction w1 m/sec. Both
spheres move posntly after collision then find
thewr velocity. 6+ 6
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A wheel of diameter 25 cm o1s rotating o
20 revoligion per munste Find the angular
velooity and linear velocity of a point on nm
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Suffness of a spring s 20 Niem. Find out the
work done o stretch by S om 6+ 6
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FIZ: (i)  Weaw gy st g vt 7 7 frel gt yeat & v
T |

Question No. 1 is compulsory, answer any Five
questions from the remaining.

(ii) HeGF g & T 9T F FHAR OF G EeT FHAd |
Solve all parts of a question consecutively
together.

(i) AeF FoT 1 79 T & TR0 Fifad |

Start each question on a fresh page.

(iv) g1 wrErart & sraw g7 @1 feafa & st arqar 8
T E
Only English version is valid in case of
difference in both the languages.

1. (i) o & FHEE aq9e & FEn & aaare |
Explain the law of parallelogram of forces.

(i) Mot & fagta =+t TRy |

Explain the principle of moments.

(iii) wra guoT St wEEEd |

Explain the limiting friction.
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(iv) FaT Geeqor & fagia & 9 |
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Explain the pnnciple of conservation of
momentum.

wifer =1 aftfea i |

Define the Power. 2x5
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Two equal forces act at a point. The square
of their resultant is equal to the three times
of their product. Find the angle between
them. http://www.rtuonline.com
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A wheel has a diameter of 2.0 m and weight
of 100 N. It is to be pulled on a step of

20 cm. height. Find the minimum horizontal
force required at the centre of the wheel to

pull out. 6+6
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A T-section has a horizontal flange of size
60 mm x 10 mm and a vertical web of size

80 mm x 10 mm. Find the distance of centre
of gravity from bottom.
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Explain the use and working of steel yard. 6+ 6
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A body of weight 800 N is resting on a
rough horizontal plane. The cocfficient of
friction between them is 0.2, Find the
minimum horizontal force to move the body
and the angle of friction.
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In a first system of pulleys, there are 4
movable pulleys. Find the effort required to
raise a load of 200 N at an efficiency of

R0%. 6+6
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In the laboratory, how will you verify the principle
of moments by a compound lever, explain ?
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A bullet moving at a speed of B0 cm/sec.
penetrates 30 cm in a wooden block. If a
similar wooden block is only 10 cm thick,
find the velocity of the bullet while coming
out of the block.
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